Equals – Sheet 1
Whatever is on one side of an equals sign has to be the same on the other side.

Example:

6 = 6  


(both sides equal 6)



Example:

3 x 5 = 15 

(both sides equal 15)



Example:

27 + 4 = 33 – 2     
(both sides equal 31)


Example:

3 x 6 = 9 x 2 

(both sides equal 18)

Your task:
Write in the missing figures on the dotted lines below:
2 + 3  =  ......




3 + 3  =  ..... + 1

2 +  ......  =  2 x 4



5 x 6  =  23 + .......



90  =  ...... x 9




18 + 3  =  ..... – 10



64 ÷ ....... = 2 x 4



5 x .....  =  25
......  =  6 x 6




48 - .......  =  12 x 3
6 + 4 + .......  =  17



20  =  4 + 4 + ....... + 4

40 – 4 = .........



71 + .......  = 88
199 + ......  =  200



10 =  25 - ........

3 + 11 = ....... – 7



16 + 5 =  ........ – 8
2 x 2 x 2 =  ........



750 + .......  =  ....... – 50
